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Quiz Today

Wednesday, Feb. 15

Any Questions First

d Homework solutions from last day

Solutions to Distance Between Two Points Worksheet 1 From Monday

Solutions to Distance Between Two Points Worksheet 2 grom, Tuesday

N

Solutions to Extra Practice Linear Equations Workshee]:rom Tuesda



ANSWERS => Distance Between Two Points (1)

1, P(2,3) Q- —t)

2.8 (N,2) T(2,-6)
a)Huv=3 : 0) RUN= 6
b) Rrsg =4 b) RSE=28
¢) Dpg= (X=X )’ “+(y =YY ) D= %)+ (-,
< NG+ (1-3)* |

(2-4)"+ (-6-2)*

N(6)2+(E9)?
= N36+6M

: . =_\]_IO‘_Q_

!i i

3 A(-5,0) 8(2,5)  C(-2,2)DC(0,-1)

D».s— N[ (a=y) Dca - L COmX )2+ (y,-y, )

= \[(~2 5)“+ (5-0)*_ = \I (0--2)*+(-1-2)*
_ N| Zi‘t(-z)“

J4H+9

L= _\l_ \3

i

3(,3) HG,5)

_ Den= 06 XD + (YooY P
= N6-3) x (5-3)?
= @)+ )






T(1,-3) J(5,~1) K(s,-2) 1L(5,-5)

D]-;L;'\I(Xz“‘x )1""( N2~ :)
N(5--5)*+C5- 2.)‘

Dzy= KX Oy 2
= NG-D*+{-1-3)°
= N W)+ 2)T

= JU0)*+(-3)*
= JIG+H = J100+9
= J20 = J109
=/4 x5
= 2\/5

4. Ale,2) B(5,-1) b)C(-2,-1) D(-2,9)
DAB"‘ J&L l)a+(\h Vﬁ DCD= \J(Xz.'xl)2+CVa_ I)z

(ﬁ_m_n;él;z)* - NCa-D=(an*
( 1)+ (-

= N C(0)*+ Cl0o)*
= l+"l = \JO+I100
= Jio = J100
= |O.

¢) E¢-83) F (4,-2) d) G(2,-5) H(0,6)

D€F = J(Xl—X| 1'!' ( 27 _’5—2 DGH = {(.Xa__' ”(1)1{' (Vl—yl]z-
BN RS RN G -

JC N e
= 12.)%+ (=5)32 = *+(11)*
= JI199+05% = J'—lﬂz
= VIeY = \l
= 5\/5





5. PM (-3,0) I - .
Deg= 2 ENA 'y D@ Xa X )+ X% )+ (Y-
e e-z)‘+(—w R=,‘ri —3-—6)-»('0" S }ém%.?

= V(N - {C**2) = JEs)5 ()

. jlfa+3&- N N T

=82 = NS85 = Jq
=/4 x13
:2\/ﬁ

ba) A(H,5) B8(1,2) b)C(2,3) DE7,1) - @) Fein) F(y,-¢)

-IDAE.= \k‘xz_'f)(a)i"l'(‘/fy.;)z DC D= \sz"Xl)z‘f‘_C\[z-_V‘lz D-Ey- | \b(z.

=N(-9)*+(25)2 = :,[<(-'I-2}’+(r-s)1
= J(_3)2+(_3)z = NES) - (CY)?
= J9+9 = 25+
= {ig. = 4]
| ) - S =5y
d) G0,0) H(4-6) The distance from Eto F
18 the lanﬁcsi‘_

- Den= Gaoxat Gy )t
- J-(q-'*o)-i“l"(fé‘o)"
J(Ll) st






1 S
a) D(-4,2) C¢Y,-3) A(4,5) B (4,0)

Doc= | X ) H(yey,) Dae = {(tx ) +( yoy)t DC=AB

= VO C3-2)* = JY-4)*+(0°5)*
= N(O)*+(5)? = J(0)*+E5)
- {25~ = 25
=5 =5
b) DCY,2) A(H,5) C(-4,-3) B(4,0)
Doa=(x-x NEICR DS Des= (XX )t (y,-y,)* DA=CB.
= J@-D5(-2)* = N (=% (0-3)*
= J&)+ (3)* = J(8)*+(3)*
= JeN+q = N6H+9
! J73 = V713

8. A(2,3) B(5,7) C(3,3)
Dpc= YOXDt (¥ Dace k)t (Yl

=\ (8-5)%+(3-1D* =J(8-2)+(3-3)*
SR [OR T N ATTAE
9+ie

rTlr)fo of ch: 'H-)rc::: Sides are the same /cn3+h=>_’[)805('ﬂ£5
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Sogrzons =>Distance Warksheet 42

da) AGSM) HGS0) b)AC5,-3) D(5-3)
DhH L \]ZXz‘X:)zi*er\/;)z chz \](Xa‘x.)%-l-C\j;V.)l
= d(\)@ﬁ)}ﬂéb}—@‘ = \1(3——‘5 )+ 3= B)
= )" +(CM)* = ok X ¢ 1=
JREE N VT o
= V1o =N &N
) 0(0,0) FC3,4) d) 0(0,0) A(3,M)

DQF' = \T(Xf X|>2+ (ﬂz_ \} |)1 .:DQ A i (X-}" X I):}i’ C\"z"\f:)i

= qc;—oﬁg‘u—'o}* +(H-O)
= J R34 (M)* = H-(4)>
-Jaric AN

)
+16

S

S

) D (F-3) T(5,5) IEG) TAUSY)

I)DJ = \J (xzﬁx \)2‘1_ (Vz_ﬂz iDEi_': \]()<1,"">< 131‘1‘6/{%)2
= (53 +(-5=3)" = N (1=3)"+ (CH=6F

= S GO = JA)+0)*
= m—l'— = \l—\éﬁi—)
= J§ VOO
= 94X -

NS

1 il

= MY





3 DG-3) FE3, 4) h) AGGM) C5,~3)
D O OVEVY Dac= (
= :1]2(5—3{5))’: Cbl{ \;5)2 d

= 5 Certl])”

-_gerts )
2 88
D FE3H) BEI0)
DF% (X=X ) +C5{1 }Z }
—C’)':’) 4
= O) + (- ‘-1‘)2
O+ 16

‘:\[_—_
R

2a) (6,8) (0,0) LG, 8) (0,0)

D ‘-.)C‘ D\itxzx)(zaz
Q(Xﬁ X-6++¥CEOQE;‘ + 0V

N Ge)y+C8) S zf O{E)

+

- A :+Z’v{
= 100

= NeS
=10






e) (%H4,4) (0,0) 3 (0,0 (8,6)

D=J&ax P+ (uy): D= X ey )

= ] (0-3/4)*H0- ;i)z = J (G-O)+(o-0)*
= J )1y = J®*r
= \ Yo+ 4 = Vo
= J YMiet+'“le = 100
= e = 10
=
b) (0,2) (3,3) ANEB,0)(8-5)
'D N FYoYD® D Gax )+ (Y )*
J(&ﬂ)2+ (& 2)* = \iC( 3P+ 5{))’“
= \N(R)+Q)H*> = JON*+ED?
= ] G| = \JIQI+95
— @) = m

d) 2 -2) (3,0) e) (8-8) (M ,-1)

\TLX-;L )()1’\'6\}1—\] ll D \3()( X)"l"(\h \0'"
= V(=2 +(O=2)" Jg-2)+C1--8

= ~ (16)*+ (2)* E (_Listk (N>
= 104 = \65
= J94¥%X26

2106





£) (6,3) (-6,-8) 4q) Q1) (=1,1)
‘D: RX:L‘XE)Z"' (\1’2*\}*)2 E A K 17-7(1)2"' (\I‘-_V ')2

= J )3 (3-8)* = NG
= JC=Qer e \Tr’:z):»crﬁj
= N H%+256 = \N4+9
= JHoo = 13
= %0
SIS N o) (HYH,G)

r& \\ E\}XE*XJ:_" (J‘./'l‘ll/l))z Y= \R\YQ( XD (ya-y,)?
= -0y bon=thY = A (H=D2 e )*
Gy oo,
= Naid = o+
=413 = 13

d) Jﬂ{ of the distances are Te same -

Sa) Aasc AG,s) BO,2) C (5,2)
Dar = VXX Ty Dge= N &XaXd)* (Yary)’
AB + (Ve Y) Sy \T%S’T-

R S
= ) H(ED)* = S (EL O
=Jo+9 ~ I_b_' +0O
=9 “Nlo
=33 = 4
Dac= VX Cyay )t Herimetel=3+49+5
AC — \1(6_")2_1'(2'"5)2 e |2JUD‘FE;S
= J W)+ (3)*
= N 1619

= {95
= 5





b) APQR P(4,2) Q(-5r-10) R(4,-10)

DP@ :\| O(‘:."Xl)z"f' (\lﬁ.‘y[)z ’$G}R = JQ(Q__X I)1+" (\JZ_\/J}Q
= G54+ G o2y
= N Car+Ci2)

-

= (4SS Eio=10)"
_ q)z_,r =
= N 81{ 194 = JgI+0
= \N225 = g
= |3 = o
:DPR = \\(X-:Xk)zﬂ-(\f,‘—y‘)“ /—Peri W@-Fer: | 5+4G+120
= (4= ¢10-2): =36 ynits .
= \ O+ (|2)
= NO+I44
= NI4T
=1

¢) ADEF D(g,10) ECT0) FET,10)

Dpe= N Cax )+ (ya-yi ) (:DEF:Q(X:.:XD&*' (V=AM
= (=8 1o- 1)
= 15+ 200

= \Fﬁ-—’?)ﬂ(@o}-—’z—_ 10)*
e (O)z-l- 20}
= J 225+400 " Jor4doo
=05 = 20
Dpr = N XX P+ (o)
= JET-8P+U0-10F

—

(—p@r\' meter= 22015
=DOUNnitS
= LS la)r
QAS+O

\1252‘3
= |

—

——





6. PE1L2) O(2,6) RE4,Y)
De Z\kxz—y.)#(yl—yl)* Deoo=JG=x%,)> o
" - V@1 (e2)* = \]\E —4-0)+ (4 —c;;‘

B e = {2
A = = N 3t
- = N4xl
= NIO
i

D PR = \\(X,_—)ﬁ)l—}- (Yﬂ-'\fl)z'
= N ™D (Y-2)0 /-\fo:riw[cjtf=5+63+6.(o
= N ar+Q)e = 14.9 Units
= N S9+4
=N3>
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Geometry & Applications
Extra Practice-Equations of Lines

Name

ANSWER Hg Y

Date Period

Determine the equation of each line given the following information.(Equations must be expressed in

GENERAL form)

1) Slope = -g-, y—intercept =-5
= 9— 2 b=_5
M S
8:: m'x'l"b
B:‘. 9_7(-"5

5§r= CI?C':'-S

= -SN - 25
3) ougﬁa,?& slope =0
X|YI
tj“t}lzm(}‘.")(\)
g+S5=0(x"2)
Y+oS= O

ke TR 1Y a 3
) through (0. ) and (4. 3}

"= '31."'51 P+ Q:)"SI)
Kaz=X. I
= -145 Yy mx=x1)
.--H‘;O 5+‘5= =1 'L'X‘O)
Sy U«n—S = =

= =1 \"x_+3+5=0

2
2) Slope =—-—, y-intercept = -3

— b=-3
r'v‘\:- 2':
Em-xﬁ-b
y=-%*"3
By =-2%x-9
D*+3y+94=0

el

4) through: (2, 3), slope = .
* Yo 5
= l"-'-_* mm quXi)
%-% = ~2(%x-2)
~3= - 2.5 +4
e 5%'5
Sy-15= -2% 4
-15-4=0

IAFSY
Ox + 53-19=C

X
6) through: (0, 1;5 and [s’,h —‘\552

M= '}:xt;_ﬁ;‘ P+' "\Sf"\?‘)
= -a+4 gy tn (X=X1)
5-0 B
- yra=gko
= _1Xx
o R
Sy+r20= VX

O= 11—53”20





7) through: (2, 3), parallel to ¥ =§x +1

pt. (2,3 FYL'—‘-_%.
X\ ":.)'l T"ﬂ“ﬂ_'s_
2
8"'8 = m Q'X."K.i)
y-3 = .E,_S_Q?t-é))

Yoo g

VY- =5x-10
o=5x-25~‘0+(,,
O= 57(“23"41'

9) through: (—4, —5), perp.to y=-x+1

pt. C4,-5) M=-1
X‘B‘ m-l.-; -!l..orl

Y-Yr=m (x=x1)
Y+5= L (x+4)

Y¥S = I +4
O= Ix-y+44-5
o= l'x—tj—l

1
8) through: (-2, —1), parallel to y = —Ex-q- 1

Y-y = m (x-=x%1)
BH = =1 (x+2)
2
8-}-1: -_%___'.‘(. - |
yo= -1~V
Ix+1\\j+9_+i,= ()
1 x +2Y +4=0

10) through: (<2, 1), perp. to y=2x+ 1

pr. (2,1) m=
’xl;\Jl m"":-_l:l’_-)

-, = m x-xy)

g_?= —_:_;._()(-?2.)

S

Qtj-a'.)= -lxX-9
]'x'-\—23—2+2,= O
lx+23y=0
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m: :lz. "51

Ha =X

o eqpation)

Yy = mex)



Midpointof a Line Segment

If M is the coordinate of the midpoint of
aline segment joining A(x,, y:) and
B(x2, y2), then the coordinates of M are
given by:
g
=|X2+X;1 9 Y2+Y1
2 2




Example

Find the midpoint between Sé, :‘44) and
T('Is, 2).
4

M) = _7_8',“_%_& Y I “'\JL‘
2
L 2.

= (3)*« (=15) E+GY ]
2 2 9

~

[ 3-I15 -'-l+7-]

——

[



Example 2

)

The midpoint of AB is given by M(-1,
for the points A(-4, 2) and B(x,y)

Find x and y.

M < [

| 3> (-q.\-')(

Set the x coordinates equal
4+ ﬁ o |

cross_multi Iy
V(44 = -

~41x = Q)
Solie for X

-)‘ﬁxdw

)

i W

% 4 X3 u, wa]
) 2

'HS

Set the y cogrdinates equal

(atg) =5
9 \
cross multiply

gy = 0

diy= ¥

B (%
= (f; ﬁ>






Attachments

Q Solutions to Distance Worksheet #1.pdf
Q Solutions to Distance Worksheet #2.pdf

Q Solutions to Linear Equations - Extra Practice Worksheet.pdf



ANSWERS => Distance Between Two Points (1)

1, P(2,3) Q- —t)

2.8 (N,2) T(2,-6)
a)Huv=3 : 0) RUN= 6
b) Rrsg =4 b) RSE=28
¢) Dpg= (X=X )’ “+(y =YY ) D= %)+ (-,
< NG+ (1-3)* |

(2-4)"+ (-6-2)*

N(6)2+(E9)?
= N36+6M

: . =_\]_IO‘_Q_

!i i

3 A(-5,0) 8(2,5)  C(-2,2)DC(0,-1)

D».s— N[ (a=y) Dca - L COmX )2+ (y,-y, )

= \[(~2 5)“+ (5-0)*_ = \I (0--2)*+(-1-2)*
_ N| Zi‘t(-z)“

J4H+9

L= _\l_ \3

i

3(,3) HG,5)

_ Den= 06 XD + (YooY P
= N6-3) x (5-3)?
= @)+ )






T(1,-3) J(5,~1) K(s,-2) 1L(5,-5)

D]-;L;'\I(Xz“‘x )1""( N2~ :)
N(5--5)*+C5- 2.)‘

Dzy= KX Oy 2
= NG-D*+{-1-3)°
= N W)+ 2)T

= JU0)*+(-3)*
= JIG+H = J100+9
= J20 = J109
=/4 x5
= 2\/5

4. Ale,2) B(5,-1) b)C(-2,-1) D(-2,9)
DAB"‘ J&L l)a+(\h Vﬁ DCD= \J(Xz.'xl)2+CVa_ I)z

(ﬁ_m_n;él;z)* - NCa-D=(an*
( 1)+ (-

= N C(0)*+ Cl0o)*
= l+"l = \JO+I100
= Jio = J100
= |O.

¢) E¢-83) F (4,-2) d) G(2,-5) H(0,6)

D€F = J(Xl—X| 1'!' ( 27 _’5—2 DGH = {(.Xa__' ”(1)1{' (Vl—yl]z-
BN RS RN G -

JC N e
= 12.)%+ (=5)32 = *+(11)*
= JI199+05% = J'—lﬂz
= VIeY = \l
= 5\/5





5. PM (-3,0) I - .
Deg= 2 ENA 'y D@ Xa X )+ X% )+ (Y-
e e-z)‘+(—w R=,‘ri —3-—6)-»('0" S }ém%.?

= V(N - {C**2) = JEs)5 ()

. jlfa+3&- N N T

=82 = NS85 = Jq
=/4 x13
:2\/ﬁ

ba) A(H,5) B8(1,2) b)C(2,3) DE7,1) - @) Fein) F(y,-¢)

-IDAE.= \k‘xz_'f)(a)i"l'(‘/fy.;)z DC D= \sz"Xl)z‘f‘_C\[z-_V‘lz D-Ey- | \b(z.

=N(-9)*+(25)2 = :,[<(-'I-2}’+(r-s)1
= J(_3)2+(_3)z = NES) - (CY)?
= J9+9 = 25+
= {ig. = 4]
| ) - S =5y
d) G0,0) H(4-6) The distance from Eto F
18 the lanﬁcsi‘_

- Den= Gaoxat Gy )t
- J-(q-'*o)-i“l"(fé‘o)"
J(Ll) st






1 S
a) D(-4,2) C¢Y,-3) A(4,5) B (4,0)

Doc= | X ) H(yey,) Dae = {(tx ) +( yoy)t DC=AB

= VO C3-2)* = JY-4)*+(0°5)*
= N(O)*+(5)? = J(0)*+E5)
- {25~ = 25
=5 =5
b) DCY,2) A(H,5) C(-4,-3) B(4,0)
Doa=(x-x NEICR DS Des= (XX )t (y,-y,)* DA=CB.
= J@-D5(-2)* = N (=% (0-3)*
= J&)+ (3)* = J(8)*+(3)*
= JeN+q = N6H+9
! J73 = V713

8. A(2,3) B(5,7) C(3,3)
Dpc= YOXDt (¥ Dace k)t (Yl

=\ (8-5)%+(3-1D* =J(8-2)+(3-3)*
SR [OR T N ATTAE
9+ie

rTlr)fo of ch: 'H-)rc::: Sides are the same /cn3+h=>_’[)805('ﬂ£5
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Sogrzons =>Distance Warksheet 42

da) AGSM) HGS0) b)AC5,-3) D(5-3)
DhH L \]ZXz‘X:)zi*er\/;)z chz \](Xa‘x.)%-l-C\j;V.)l
= d(\)@ﬁ)}ﬂéb}—@‘ = \1(3——‘5 )+ 3= B)
= )" +(CM)* = ok X ¢ 1=
JREE N VT o
= V1o =N &N
) 0(0,0) FC3,4) d) 0(0,0) A(3,M)

DQF' = \T(Xf X|>2+ (ﬂz_ \} |)1 .:DQ A i (X-}" X I):}i’ C\"z"\f:)i

= qc;—oﬁg‘u—'o}* +(H-O)
= J R34 (M)* = H-(4)>
-Jaric AN

)
+16

S

S

) D (F-3) T(5,5) IEG) TAUSY)

I)DJ = \J (xzﬁx \)2‘1_ (Vz_ﬂz iDEi_': \]()<1,"">< 131‘1‘6/{%)2
= (53 +(-5=3)" = N (1=3)"+ (CH=6F

= S GO = JA)+0)*
= m—l'— = \l—\éﬁi—)
= J§ VOO
= 94X -

NS

1 il

= MY





3 DG-3) FE3, 4) h) AGGM) C5,~3)
D O OVEVY Dac= (
= :1]2(5—3{5))’: Cbl{ \;5)2 d

= 5 Certl])”

-_gerts )
2 88
D FE3H) BEI0)
DF% (X=X ) +C5{1 }Z }
—C’)':’) 4
= O) + (- ‘-1‘)2
O+ 16

‘:\[_—_
R

2a) (6,8) (0,0) LG, 8) (0,0)

D ‘-.)C‘ D\itxzx)(zaz
Q(Xﬁ X-6++¥CEOQE;‘ + 0V

N Ge)y+C8) S zf O{E)

+

- A :+Z’v{
= 100

= NeS
=10






e) (%H4,4) (0,0) 3 (0,0 (8,6)

D=J&ax P+ (uy): D= X ey )

= ] (0-3/4)*H0- ;i)z = J (G-O)+(o-0)*
= J )1y = J®*r
= \ Yo+ 4 = Vo
= J YMiet+'“le = 100
= e = 10
=
b) (0,2) (3,3) ANEB,0)(8-5)
'D N FYoYD® D Gax )+ (Y )*
J(&ﬂ)2+ (& 2)* = \iC( 3P+ 5{))’“
= \N(R)+Q)H*> = JON*+ED?
= ] G| = \JIQI+95
— @) = m

d) 2 -2) (3,0) e) (8-8) (M ,-1)

\TLX-;L )()1’\'6\}1—\] ll D \3()( X)"l"(\h \0'"
= V(=2 +(O=2)" Jg-2)+C1--8

= ~ (16)*+ (2)* E (_Listk (N>
= 104 = \65
= J94¥%X26

2106





£) (6,3) (-6,-8) 4q) Q1) (=1,1)
‘D: RX:L‘XE)Z"' (\1’2*\}*)2 E A K 17-7(1)2"' (\I‘-_V ')2

= J )3 (3-8)* = NG
= JC=Qer e \Tr’:z):»crﬁj
= N H%+256 = \N4+9
= JHoo = 13
= %0
SIS N o) (HYH,G)

r& \\ E\}XE*XJ:_" (J‘./'l‘ll/l))z Y= \R\YQ( XD (ya-y,)?
= -0y bon=thY = A (H=D2 e )*
Gy oo,
= Naid = o+
=413 = 13

d) Jﬂ{ of the distances are Te same -

Sa) Aasc AG,s) BO,2) C (5,2)
Dar = VXX Ty Dge= N &XaXd)* (Yary)’
AB + (Ve Y) Sy \T%S’T-

R S
= ) H(ED)* = S (EL O
=Jo+9 ~ I_b_' +0O
=9 “Nlo
=33 = 4
Dac= VX Cyay )t Herimetel=3+49+5
AC — \1(6_")2_1'(2'"5)2 e |2JUD‘FE;S
= J W)+ (3)*
= N 1619

= {95
= 5





b) APQR P(4,2) Q(-5r-10) R(4,-10)

DP@ :\| O(‘:."Xl)z"f' (\lﬁ.‘y[)z ’$G}R = JQ(Q__X I)1+" (\JZ_\/J}Q
= G54+ G o2y
= N Car+Ci2)

-

= (4SS Eio=10)"
_ q)z_,r =
= N 81{ 194 = JgI+0
= \N225 = g
= |3 = o
:DPR = \\(X-:Xk)zﬂ-(\f,‘—y‘)“ /—Peri W@-Fer: | 5+4G+120
= (4= ¢10-2): =36 ynits .
= \ O+ (|2)
= NO+I44
= NI4T
=1

¢) ADEF D(g,10) ECT0) FET,10)

Dpe= N Cax )+ (ya-yi ) (:DEF:Q(X:.:XD&*' (V=AM
= (=8 1o- 1)
= 15+ 200

= \Fﬁ-—’?)ﬂ(@o}-—’z—_ 10)*
e (O)z-l- 20}
= J 225+400 " Jor4doo
=05 = 20
Dpr = N XX P+ (o)
= JET-8P+U0-10F

—

(—p@r\' meter= 22015
=DOUNnitS
= LS la)r
QAS+O

\1252‘3
= |

—

——





6. PE1L2) O(2,6) RE4,Y)
De Z\kxz—y.)#(yl—yl)* Deoo=JG=x%,)> o
" - V@1 (e2)* = \]\E —4-0)+ (4 —c;;‘

B e = {2
A = = N 3t
- = N4xl
= NIO
i

D PR = \\(X,_—)ﬁ)l—}- (Yﬂ-'\fl)z'
= N ™D (Y-2)0 /-\fo:riw[cjtf=5+63+6.(o
= N ar+Q)e = 14.9 Units
= N S9+4
=N3>
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Geometry & Applications
Extra Practice-Equations of Lines

Name

ANSWER Hg Y

Date Period

Determine the equation of each line given the following information.(Equations must be expressed in

GENERAL form)

1) Slope = -g-, y—intercept =-5
= 9— 2 b=_5
M S
8:: m'x'l"b
B:‘. 9_7(-"5

5§r= CI?C':'-S

= -SN - 25
3) ougﬁa,?& slope =0
X|YI
tj“t}lzm(}‘.")(\)
g+S5=0(x"2)
Y+oS= O

ke TR 1Y a 3
) through (0. ) and (4. 3}

"= '31."'51 P+ Q:)"SI)
Kaz=X. I
= -145 Yy mx=x1)
.--H‘;O 5+‘5= =1 'L'X‘O)
Sy U«n—S = =

= =1 \"x_+3+5=0

2
2) Slope =—-—, y-intercept = -3

— b=-3
r'v‘\:- 2':
Em-xﬁ-b
y=-%*"3
By =-2%x-9
D*+3y+94=0

el

4) through: (2, 3), slope = .
* Yo 5
= l"-'-_* mm quXi)
%-% = ~2(%x-2)
~3= - 2.5 +4
e 5%'5
Sy-15= -2% 4
-15-4=0

IAFSY
Ox + 53-19=C

X
6) through: (0, 1;5 and [s’,h —‘\552

M= '}:xt;_ﬁ;‘ P+' "\Sf"\?‘)
= -a+4 gy tn (X=X1)
5-0 B
- yra=gko
= _1Xx
o R
Sy+r20= VX

O= 11—53”20





7) through: (2, 3), parallel to ¥ =§x +1

pt. (2,3 FYL'—‘-_%.
X\ ":.)'l T"ﬂ“ﬂ_'s_
2
8"'8 = m Q'X."K.i)
y-3 = .E,_S_Q?t-é))

Yoo g

VY- =5x-10
o=5x-25~‘0+(,,
O= 57(“23"41'

9) through: (—4, —5), perp.to y=-x+1

pt. C4,-5) M=-1
X‘B‘ m-l.-; -!l..orl

Y-Yr=m (x=x1)
Y+5= L (x+4)

Y¥S = I +4
O= Ix-y+44-5
o= l'x—tj—l

1
8) through: (-2, —1), parallel to y = —Ex-q- 1

Y-y = m (x-=x%1)
BH = =1 (x+2)
2
8-}-1: -_%___'.‘(. - |
yo= -1~V
Ix+1\\j+9_+i,= ()
1 x +2Y +4=0

10) through: (<2, 1), perp. to y=2x+ 1

pr. (2,1) m=
’xl;\Jl m"":-_l:l’_-)

-, = m x-xy)

g_?= —_:_;._()(-?2.)

S

Qtj-a'.)= -lxX-9
]'x'-\—23—2+2,= O
lx+23y=0
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